
Thank you for purchasing this quality product. Be sure to check all packing material carefully for small
parts, which may have come loose inside the carton during shipment. Identify and count all parts and
compare with the parts List below.

DESCRIPTIONDRAWING Q'TY

1 Center leg 1 PC

ITEM NO : TS-CA-5518-CYB-C
     PANTRY

1/1

2 2PCS

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small
parts, which may have come loose inside the carton during shipment. Identify and count all parts and
compare with the parts List below.

DESCRIPTIONDRAWING Q'TY

A Center leg 1 PC

ITEM NO : TS-CA-7018-CYB-C
     SIDEBOARD

1/1

B

C

4 PCS

1 PC

D

E

F

G

16PCS

16PCS

16PCS

1 PC

∅5/16"x1"Allen Head Bolt

∅5/16"Flat Washer

∅5/16" Spring washer

5mm Allen Wrench

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small
parts, which may have come loose inside the carton during shipment. Identify and count all parts and
compare with the parts List below.

NO. DESCRIPTIONDrawing Q'TY

A

ITEM NO :TS-TA-5555G-CYB-C
     ROUND GATHERING HEIGHT TABLE

1/1

C

D

E

F

G

8PCS

4PCS5/16" x 3/4 " Allen Head Bolt

12PCS

1 PC

5/16" Flat Washer

5mm Allen Wrench
12PCS5/16" Spring asher

Legs 4PCS

H

5/16" x 2-1/2 " Allen Head Bolt

Wood Shelf

1PC

1PC

Table Top

 leg

Step 2

Do not tighten screws until completely assembled.
Made in VietnamMade in VietnamMade in Vietnam

HARDWARE & PARTS LIST

HARDWARE & PARTS LIST

HARDWARE & PARTS LIST

NO.

NO.

F

G

D

H

 leg

B

2PCSH

Please remove this bolt for moving or
pushing the sideboard. Remember to
secure back the bolt to prevent
the sideboard from moving.


